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Our	question	in	words

• The	main	question	we	want	to	answer	is	if	salary	has	an	effect	on	
whether	an	employee	leaves	a	company	or	not,	and	how	this	changes	
with	the	salary	level.
• We	are	also	interested	in	exploring	whether	the	following	variables	
have	effects	on	whether	an	employee	leaves	a	company:

-Average	monthly	hours
-Satisfaction	level
-Last	evaluation
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Sticky Note
Does this mean you have multiple As?

maya
Sticky Note
meaning the shape of the casual "dose response" curve?



Our	target	parameter

• We	are	interested	in	the	average	treatment	effect.	In	the	case	of	
salary	with	3	levels	(“low”,	“medium”,	“high”)	we	will	look	at	the	
effect	an	increase	in	salary	by	one	“level”	has	on	whether	an	
employee	leaves	or	not
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Sticky Note
You have 3 levels of exposure - does this mean you will do 3 estimates of the ATE (i.e., one for each pair)? Could also consider using an MSM as your target causal parameter



Our	data

• From	Kaggle:	https://www.kaggle.com/ludobenistant/hr-analytics
• In	total	14,999	observations
• Company	dataset	consisting	of	whether	an	employee	left	and	9	other	
variables
• Variables	include:	Last	evaluation,	employee	satisfaction	level,	salary,	
average	monthly	hours,	work	accidents
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Sticky Note
What is time frame of exposure and outcome variable?

maya
Sticky Note
have any of these over time?
issues with causal ordering? ie salary may affect satisfaction?





Challenges	we	(might)	face

• Deciding	on	how	to	simplify	our	DAG
• Direction	of	arrows	(do	average	monthly	hours	affect	satisfaction	or	the	other	
way	around?)
• Should	we	group	some	variables	(e.g.	average	monthly	hours	and	satisfaction)	
in	a	new	variable	(e.g.	W1),	so	we	do	not	need	to	worry	about	for	example	
the	direction	of	arrows?

• Identifiability	
• Which	independence	assumptions	/	exclusion	restrictions	should	we	make?	

• Which	libraries	should	we	use	for	our	superlearner?
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Sticky Note
we emailed about this. But it seems like you also have issue with time ordering of your A and your W...

One option is just to acknowledge this, talk about casual assumptions that would be needed for casual interpretation, but at the end interpret these more like adjusted variable importance measures (ie using just the statstical interpreation of the G comp formula...) 




